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5312
M.Com. (FINAL) E.A.F.M. EXAMINATION, 2019
Paper - 11
FINANCIAL MANAGEMENT

Time: Three Hours
Maximum Marks: 100

PART - A (Gvs — 3]) [Marks: 20]
Answer all questions (50 words each).

All questions carry equal marks.

T geT 1A & JRIF FIT BT FAY 50 =] H HIF 7§/
7 7ol @& s AT &
PART - B (Gvs — §) [Marks: 50]
Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.
IR 31 W YH—9F J97 gd §Y &l yid I B/
R% FIT T Y 250 %] o 3EF T &/
7 7ol @& s AT &
PART - C (Gvs — @) [Marks: 30]

Answer any two questions (300 words each).

All questions carry equal marks.

P g FoT BT Jdb T T SV 300 Isq) & 3fFE 7 8/
v gl & 3 THIT 8/
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PART - A / EUs — 3

Q.1 (1) What are indicators of wealth maximisation?

HHET JATABTHBRY & o T 57

(11)) Define financial planning.

T RIS 1 aRAIRT BIRTY |

(111) When fixed costs are nil then what will be size of operating leverage.

59 ReR &R T & a9 URATed ITlcid &I ATHR T THIT?

(iv) What is over capitalisation?

IfAYSHHROT =T BIT 872
(v) Give two limitations of ratios.
Ul B &7 HHY TSy |

(vi) What is the difference between ‘operating profit’ and ‘fund from operation’?

TR A Y’ T IR ¥ Sy § &7 Y 87

(vil) What are mutually exclusive projects?

TRER 379qoi] IRdTd T 81 87

(viil) What i1s ‘normal firm’?

AET HH T Bl 87

(ixX) What is permanent working capital?

I Hrfefier oft @ Bt 27

(x) Define safety stock. How it is calculated?

GRET WY PI URAINT BT | HD! TUFT DY BIcll 67
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PART -B / vs— d

UNIT -1/ go1s -1

Q.2 Explain finance function.

o sl &1 W S |
OR /31d1

Mr. X deposits T 1,40,000 annually for 10 years. He deposits the money at the end of

each year. What is the present value of the annuity if the discount rate is 12%?

1. X 10 99 T® T 1,40,000 ATAT STHT BRI 8 | I8 U7 IAH 99 & T H AT BRI & |
Ife 921 &R 12% &, A1 qNST BT gdA Jod a1 BRM?

UNIT 11/ go1s — 11

Q.3 The balance sheet of X Ltd. is as follows:

Liabilities ] Assets 3
Equity share capital 60,000 Fixed assets 1,50,000
Retained earnings 20,000 Current assets 50,000
10% long-term debt 80,000
Current liabilities 40,000
2,00,000 2,00,000

The company’s total assets turnover ratio is 3. Its fixed operating costs are < 1,00,000
and its variable operating cost ratio is 40%. The income tax rate is 50%. Calculate for

the company the different types of leverages given the face value of share is ¥ 10.
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X for. &1 Rerfa faavor 39 R &

a1 3 et N
Equity share capital 60,000 Fixed assets 1,50,000
Retained earnings 20,000 Current assets 50,000
10% long-term debt 80,000
Current liabilities 40,000
2,00,000 2,00,000

AT BT gl FHRT 3 AU 3 & | gl Rer gReEme o % 1,00,000 € iR
el aRATes aNTa U 40% B | MR &I &R 50% © | HF & forg fafie=
AT B TN HIRTT I 3T BT |7 o T10 T |

OR /31efdn

What are causes of under-capitalisation? Explain.

3T YSIIdRUT & BRUT T BId 22 WK DI |
UNIT -1/ geT$ — 111

Q.4 Compute the missing information as shown by sign ? from the following data made
available by X Ltd. and Y Ltd:

X fa. wd Y o1 g1 Sueter @ 8 = el 9§ ? g 9 quiiE g8 o e 9
PITTY:

Particulars X Ltd. Y Ltd.
Net sales ? < 16,00,000
Total Assets (Excluding fictitious assets ) ¥2,50,000 ?
Total Assets Turnover (Based on sales) 6 times 5 times
Net profit on sales 12% 10%
Current liabilities <1,20,000 < 1,50,000
Return on net capital employed ? ?

[5312] Page 4 of 7



OR /3yd1

What are salient features of cash flow statement as per accounting standard-3?

s YaTg fIarvl & ofEih- AFd 3 & AR Agayul fa=g Fr 872

UNIT -1V / 5&15 -1V

Q.5 What are merits and demerits of payback period method? Explain.

GTITaE Safy fafyr & 797 vd QW @ 2° W By |
OR / 3<gdr

The available information is related to X Ltd. is as under.
Expected earnings per share = 36
Kc (cost of capital) = 16%
r (Expected rate of return on investment) (1) 15% (2) 16% ((3) 17%
You are required to estimate likely price of a share of X Ltd. as per Gordon model if:
b (relation ratio 1s) (i) 40% (i1) 60% (ii1) 80%

X for. & |awifd Suder a7 TaR &
gfa IR Iufea sma =336
Kc (@Sl &1 orred)= 16%

r (P W 9Ty & el <®) (1) 15% (2) 16% (3) 17%

e UfomE & AR X fol. & 3fe &7 F1ad IR Hod aReferd Rl © Ifa

b (FUTT @7 ) (i) 40% (i) 60% (iii) 80%
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Q.6

Q.7

Q.8

Q.9

UNIT-V/ &8 =V

Explain factors determining working capital requirements.

FHRIE Yol B AMaeIHdT df MEiRT HA Tl FRBI BT T DI |
OR /3d1

Discuss techniques of inventory management.

DY UG BT ThATD] DI [qdadT BT |
PART-C / Uts— 9

Explain limitation of profit maximization objective.
ST STHTHIDHROT ILT B AHARBI DI WL HITT |
Explain theories of capital structure.

Uoll AT & Rigrl & WK iy |

From the balance sheet and information given below prepare a statement of sources and

uses of fund for the year 2017-18.
AT & I ReIfay fJeRor vd ol & R R ay 2017—18 & foly &N & Sl Ud

O T fdaR0T GaOR & GJ|Q|

Balance Sheet

Liabilities 31.3.2017 31.3.2018 Assets 31.3.2017 31.3.2018
4 4 4 4

Creditors 40,000 44,000 Cash 10,000 7,000
Loan from A 25,000 - Debtors 30,000 50,000
Loan from bank 40,000 50,000 Stock 35,000 25,000
Capital 1,25,000 1,53,000 Machinery 80,000 55,000
Building 35,000 60,000

Land 40,000 50,000

2,30,000 2,47,000 2,30,000 2,47,000
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During the year 2017-18 a machine costing X 10,000 (accumulated depreciation X 3,000)
was sold for ¥ 5,000. The provision for depreciation on 1% April 2017 and 31 March
2018 were X 25,000 and X 40,000 respectively. Net profit for the year 2017-18 was
amounted to < 45,000.

99 2017—18 # Usp #H 9@ @rra 10,000 (G@=ft g7 T3000) off &1 T5000 # o4
faam| 1 e 2017 ToT 31 A 2018 B B & I IS BT AR B 25,000 2T
%40,000 1| 99 2017—18 H g o™ T 45,000 BT T |

Q.10 Calculate payback period and discounted payback period for a project which requires
an initial outlay of I4,00,000 and expected to generated pre Tax operating profit of
3 2,40,000 , ¥ 1,20,000 , ¥ 80,000, T 2,00,000 and X 1,60,000 for the first year to fifth
year respectively. The project has a life of five years and for tax purpose depreciates to
zero salvage value on straight line basis. The effective tax rate is 35%. Present value of
% 1 at 10% required rate of return for five years are 0.909, 0.826, 0.751, 0.683 and 0.621
respectively.
T GRS [T IRMBIS b aredars < 4,00,000 AT UM a9 ¥ UFd Y &I R Yd
TR uReErerd o™ HA: % 2,40,000, ¥1,20,000, T 80,000, % 2,00,000 TF2T ¥ 1,60,000 & I

arerfY rafdy der usIRT SreRFl orafey uReford HINTT | IRIATSTHT BT SHaqdia ufd gy

T AT I QARY JeI T el vl fafdy & gRAST IR o) Seed ¥ e T ST 2 |

BN P YA <N 35% T | U BT Iifsd 10% <X R T1 BT YUH 9 W Ul 99 ddb Bl

A Hed A T 0.909, 0.826, 30.751, T 0.683 TAT 30621 © |

Q.11 Explain functions of cash management.

RIS Ja- & Bl Bl WL BT |
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